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THM 348 Service Operations Management
Final Exam Answer Sheet
1. Contrast “Histogram” to “Pareto Chart” as tools for analysis and problem solving. (2 Points)
While a histogram presents data collected over a period of time as a frequency distribution in bar-chart form, a pareto chart orders problems by their relative frequency in a descending bar graph to focus efforts on the problem that offers the greatest potential improvement.
2. What are the characteristics of ISO 9001? (2 Points)
The characteristics of ISO 9001 are as of the following:

· Does not prescribe specific practices.

· Does not say anything directly about the quality of the product or service itself.

· Certification is provided by a highly decentralized system of auditors and accreditation bodies.

· Is involved only in design and updating of the standards.

· Documentation of processes and consistent performances are the key features of ISO standards.

3.  Define “Margin” in the framework of calculating Profit-per-Partner?  What factors affect the margin?(3 Points)
Margin is the percent of profit for each dollar of fees charged (i.e. margin is equal to fees minus costs as a ratio of fees). Margin is affected by many factors. Some of them are as the following:
· Productivity
· Leverage

· Overhead costs
4. Come up with any 2 considerations when outsourcing professional services. (2 Points)

Some considerations when outsourcing professional services are as the following:

· Involvement of high-level management in vendor identification and selection.

· High importance of reputation and experience.

· Performance evaluation by top management.

5. Come up with any 2 benefits of franchising. Explain briefly one of those very benefits. (3 Points)
Some benefits of franchising are as of the following:

· Management training → Franchisee becomes prepared to operate profitably + franchisor ensures standardization of procedures / concept / service delivery / end product.
· Brand name → Franchisee gains immediate customer recognition from a well-known brand name.
· National advertising → Franchisee enjoys larger coverage of potential customers.
· Acquisition of a proven business → Franchisee increases success chances for the business.
· Economies of scale → Franchisee benefits from centralized purchasing amd savings on the cost of materials and equipment.
6. In the framework of Labor Market Norms, define Masculinity Index. What high masculinity index tells us? (2 Points)

Masculinity Index refers to the degree the society reinforces, or not the traditional masculine work role model of male achievement, control and power. High masculinity index indicates the country / society experiences a high degree of gender differentiation (i.e. males dominate a significant portion of the society and power structure, with females being controlled by male domination).
7. During the past season, Aboubacar Resort Hotel did not achieve very high occupancy rates despite a reservation system that was designed to keep the hotel fully booked. Apparently, prospective guests were making reservations that, for one reason or another, they failed to honor. A review of Front-desk records during the current peak period, when the Resort Hotel was fully booked, revealed the record of no-shows as shown in the below table:
[image: image1.emf]No-shows Probability Reservations OverbookedCumulative Probability

0 0.04 0 0.00

1 0.06 1 0.04

2 0.10 2 0.10

3 0.13 3 0.20

4 0.15 4 0.33

5 0.16 5 0.48

6 0.12 6 0.64

7 0.09 7 0.76

8 0.07 8 0.85

9 0.05 9 0.92

10 0.03 10 0.97


Suppose that a vacant room (because of No Show) results in an opportunity loss of $ 125. 

a) Calculate the Expected Number of No Show Rooms. (2 Points)
· Expected number of no show rooms = (0.04 * 0) + (0.06 * 1) + (0.10 * 2) + (0.13 * 3) + (0.15 * 4) + (0.16 * 5) + (0.12 * 6) + (0.09 * 7) + (0.07 * 8) + (0.05 * 9) + (0.03 * 10) = 0 + 0.06 + 0.20 + 0.39 + 0.60 + 0.80 + 0.72 + 0.63 + 0.56 + 0.45 + 0.30 = 4.71 rooms.
b) Calculate the Expected Opportunity Loss. (1 Point)
· Expected Opportunity Loss = 4.71 * 125 = $ 588.75.
In order to avoid some of this loss, Aboubacar Resort Hotel management is considering an overbooking policy. Yet, if a guest holding a reservation is turned away (due to overbooking), other costs would be incurred. Aboubacar Resort Hotel has made arrangements with a nearby Resort Hotel (Vincent Resort Hotel) to pay for the rooms of guests whom it cannot accommodate. Further, a penalty is associated with the loss of customer goodwill and the impact this has on future business. Management estimates this total loss to be approximately $ 205 per turned out guest.
c) Construct and fill an Overbooking Loss Table (4 Points)
[image: image2.emf]0 0.04 $0 $205 $410 $615 $820 $1,025 $1,230 $1,435 $1,640 $1,845 $2,050

1 0.06 $125 $0 $205 $410 $615 $820 $1,025 $1,230 $1,435 $1,640 $1,845

2 0.10 $250 $125 $0 $205 $410 $615 $820 $1,025 $1,230 $1,435 $1,640

3 0.13 $375 $250 $125 $0 $205 $410 $615 $820 $1,025 $1,230 $1,435

4 0.15 $500 $375 $250 $125 $0 $205 $410 $615 $820 $1,025 $1,230

5 0.16 $625 $500 $375 $250 $125 $0 $205 $410 $615 $820 $1,025

6 0.12 $750 $625 $500 $375 $250 $125 $0 $205 $410 $615 $820

7 0.09 $875 $750 $625 $500 $375 $250 $125 $0 $205 $410 $615

8 0.07 $1,000 $875 $750 $625 $500 $375 $250 $125 $0 $205 $410

9 0.05 $1,125 $1,000 $875 $750 $625 $500 $375 $250 $125 $0 $205

10 0.03 $1,250 $1,125 $1,000 $875 $750 $625 $500 $375 $250 $125 $0

Expected Loss ($) -------

588.75  476.95  384.95  325.95  309.85  343.25  429.45  555.25  710.75  889.35 1,084.45 

10 4 5 6 7 8 9 3 No-shows Prob. 0 1 2


d) How many rooms shall be overbooked? Why? (2 Points)
According to the above overbooking loss table, 4 rooms shall be overbooked, since, this very scenario yields the least expected loss.
N.B: Your answers to parts a), b) c) & d) shall be rounded to the nearest cent.
8. Through an example, illustrate how with creating adjustable capacity, companies can alter capacity. (2 Points)
Benihana of Tokyo arranged its floor plan to accommodate eating areas serving two tables of eight diners each. Chefs are assigned to each area, and they prepare the meal at the table in a theatrical manner, with flashing knives and animated movements. Thus, the restaurant can adjust its capacity effectively by having only the number of chefs on duty that is needed.
Good Luck
PAGE  
2

